Complete the second sentence so that it has the same meaning as the
first. Use the given key Word

1) Tom is more hardworking than Bill. AS
BillIsNY i DO

2) Football is more popular than handball. AS
Handball .c..covmnmmmmmmnmmmsansig football.

3) Susan's hair is not as long as my hair. LONGER
A | o S Susan's hair

4) This exercise is not as exciting as the previous one. MORE
The previous exercise is ... THIS ONE,

5) My science teacher is funnier than my German teacher.AS
My German teacher ... my science teacher.

6) Their house is not as big as mine.
MY OUSE ..o e THEIPS. BIGGER

7) BMW is more expensive than Fiat. AS
Fiat iS oo cneinenennnr. BMW,

8) The movie version of Harry Potter is not as exciting as the book version. MORE
The book version of Harry Potter is ...........coeccsrrcenen...the movie version,

uoLIVEWORKSHEETS



